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For reference: old slide with what we put in Covid BCP – no 
escalation and before Penn’s budget reduction   

Penn: misunderstanding fixed: 
requests reduced by ~1/3?

BNL: some misunderstanding in how # were 
calculated? 
PO’s argument: x 10 larger than LBL
Ongoing discussion with the lab  led by Penka



Delta from Penka’s
email on Thu night 

Flagged everything > 1%

1%  is what other subgroups 

asked for

I argued that escalation is already 1%: 

Escalation over 4m 1s ~1% 

We asked Carrie 

for more info
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Test 1: remove escalation and 
check if what we see is what we put in

 Yes except UCSC (bug was found) 

Even after taking out escalation, 
We are still >900k$ --

it will be hard to get >$500k… 

Direct    Fringe?  Overhead?  Escalation      Total Total - Escalation



Discussion 
1) We need to recalculate % increase excluding escalation

2) We need to fix UCSC bug (done?) 

3) We need to present justification for each request > 1%
• 1-2 pages on how COVID impact was calculated and why so high
• Example for Brandeis: increase was overall small but high %-wise because:

a) manpower in that period was x2.5 my average  manpower on the project (I have names and tasks 
to prove it and will present that). Efficiency was low (~50% or so)  ~20k$

b) we went out for quotes for the final version of the bridges when covid started and they came back 
higher than before: COVID costs from industries are passed to customers  8k$

• LBL, Yale and Harvard are fine 

• UCSC, Brandeis will have to present the one pager – not hard

• Gustaaf went ahead and sent an email to Evelyn for Penn 
• I was surprised by the reply, but apparently there were some misunderstandings 
• Evelyn will work with Carrie to fix this and I will too to introduce effects of international COVID delays (Which DO affect our 

schedule when delays on chips are reduced to only take COVID into account)  we need to keep as much escalation as 
possible… 

• BNL is such a big amount that Penka agreed to take it upon herself to find a resolution with Michael or above 
• As Gerrit’s said, it’s above out pay grade to decide how Labs use their Weather and Safety accounts… 


